Algebra 1: Unit 6, lesson 7: Scatterplot Activity/Notes African Footprints (by Patrick Hopfensperger, University of Wisconsin-Minaukee)
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There is a place in Tanzania, Africa, known as Laetoli. Itis a special place because it is where scientists believe our ancestors of long ago walked
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-side. It is where scientists have worked to get an understanding of the past. In the late 1970s, two sets of footprints were discovered at Laetoli T:the
were 70 footprints in two side-by-side lines thirty meters long, preserved in volcanic ash. Apparently a volcano exploded sending ash oxeiyWhersar
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two individuals just happened to walk through the area, preserving their footprints. Fossil remains in the area tell scientists that the ancestors who
the footprints found at Laetoli lived about three and a half million years ago. "
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Using plaster casts, anthropologists made copies of the footprints. The locations of the footprints were put on a map, so that the length of the st. .
can also be determined. Based on these observations, foot lengths for the two ancestors are given; these are averages based on the 70 observed footprints.
Ancestor 1 length of footprint: 21.5 ¢cm. ‘Ancestor 2 length of footprint: 18.5 cm

Based on these dimensions, how tall were these ancestors at Laetoli?

® To determine if there’s a correlation between foot length and height, we can make a picture of the two variables, called a _SLBI_M{DI__
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a. Before you make the scatterplot, what kind of trend do you see? FZeT C&\d\ in CUX}S)
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d. Now make the scatterplot (label axes please).
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Identify the slope, y-intercept, and write the equation that fits it.
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f. Interpret in the context,fthe meaning of the slope and y-intercept.
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g. Use your equation for the line of best fit to predict the height of the first ancestor. - X= 8 Lf (4]
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h. Use your equation for the line of best fit to predict the height of the second ancestor. x - :tfl_%
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i. How accurate do you think your prediction is? Why?
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What pattern could two plotted variables look like when plotted? \N)s g&onu

AN :
\70’,])\‘ s\o?Q’ &(Qf\;?\a- K
Positi\'/e Correlation g Negative Correlation No Cofrelation
. [TT T 1]
X - NN
. [ 1] [
i N
L N |
L | " .
l .
4
P e > >
e LAl
(1Y p ‘l% ﬁ‘gﬁeq as X 'b}i_“z‘.—'!\: > \ ;1'.5i £,
T O Nelaxy eaX
Line of best fit: A e 3 “he
o (ine kab is ploted on on Scatburplot —thak fe -
dota  besk LA
The purpose of plotting a line of best fit Tt OF U m ﬂ%

To Heve AN Caupriony 5o
NEDITLILS: %\A\tos\i\wl*« noxy Sohdt for Y

To find the equation of a line of bes .
e Svet Tt ATS DAza  Best (in Yowr oPlen)

e Sketh A LINT j
Boames on Guasw Thar Tt Livg Goes Tudoukt: THesE Ponsts Do oo Wve 7o 85 Dara fongzy

13
' fvo Two 5200 N
e benosny Te A Penuzs: M=Ye™H

CUse Swre PuMST To CHHAUATE SLof %o
. : Pates * Yoy s (X%

L4 3 2

I~ 0P welai

- Uos equarTvn s MAKE A- Za) Foe- Ay

Scanned with CamScanner



